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Resumen Identidades Trigonométricas

Auxiliar: Sebastian Ceréon Amigo

cos(@),sen(f) € [-1,1],Vv0 € R

cos?(0) + sen?(0) = 1,V0 € R

_ sen(0) . __cos(0)
tan(0) = cos(8) cot(0) = en(®
sen(a £ B) = sen(a) cos(B) + sen(pB) cos(a)

cos(a £ B) = cos(a) cos(B) + sen(a)sen(B)

tan(a)ttan(B)
1¥tan(a) tan(B)

tan(a £ B) =

1
sec(0) = COS(Q);CSC(Q) =

1
sen(0)

1+ tan?(0) = sec?(0) ; 1+ cot?(8) = csc?(H)
sen(260) = 2sen(8) cos(6)

cos(20) = cos?(0) — sen?(8)

2tan(6)

tan(260) = tan?(®)
2 _ 1-cos(26) 2 _ 1+cos(28) 2 __1-cos(6)
sen“(0) = ———— ; cos<(0) = —, —  tan @) = Trcos(®

atpf

sen(a) + sen(f) = 2sen (_) oS (aj_ﬁ)

2

cos(a) + cos(B) = 2 cos (ﬂ) cos (%)

2



a+p

(o) cos(a) —cos(B) = —2sen (—) sen (ﬂ)

2 2

() tan(a) £ tan(R) =
(qQ) sen(a)cos(B) = %[sen(a + B) + sen(a — B)]
(r) cos(a)sen(fB) = %[sen(a + B) — sen(a — B)]

(s) cos(a)cos(B) = %[cos(a + B) + cos(a — B)]

(t) sen(a)sen(B) = —% [cos(a + ) — cos(a — B)]

_ _ cos(a+p)—cos(a—p)
(w) tan(a)tan(B) = cos(a+pB)+cos(a—p)





